Improvers’ Lesson 6: Opening Leads

NZBridge

Board 1 483 Board 5 4 QJ73
North Deals ¥ KQ 2 Lead: small spade North Deals v K2
None Vul ¢ KJ74 N-S Vul ¢ KQJ84 Lead: 4 4
& Q975 The small card lead & A4
4 Q9762 N & A54 promises an honour. East & A10962 N & K84 East leads partner's suit.
v 1096 w EIN J843 wins and returns the suit. v A86 w EIN 10973 With three cards and an
¢ 86 S ¢ 932 South plays the 4 J losing ¢ A105 S ¢ 93 honour, East leads a
& A104 #J62 to the # Q. West must & J10 #0876 small card. If East leads
& KJ10 continue with a third round, a5 & K at trick one, declarer
v A75 then keep spades and the vQJ54 will make 9 tricks.
¢+ AQ105 # A while declarer takes ¢ 762
& K83 their diamond tricks. & KQ532 On a low spade lead, the
West North East South West North East South defence takes four
Pass Pass 1e¢ When declarer tries to get a 1e¢ Pass 1lv spades and two aces.
Pass 3¢ Pass 3NT club trick, West must take 1e 1NT Pass 2NT
All pass # A and the remaining two | Pass 3NT All pass
spade winners.
Board 2 4 Q10754 Board 6 « 108
EastDeals v 76 EastDeals ¥ K52
N-S Vul ¢+ Q10 Lead: small spade E-W Vul ¢ J7 Lead: # 6
*#A962 # A95432
4 J6 N & A9 South attacks withasmall |[# QJ75 N 4 AK932 South must choose
vJl082 w eI AQ953 spade promising an vyQJ7 w clM A63 between ¢ K and a
¢ A975 S ¢+ K632 honour. East wins and ¢ 654 S ¢ A9 singleton club. It is
& KJ10 Q5 crosses to ¢ A to take a &#KQ8 «J107 preferable to lead a
& K832 losing trump finesse. The 464 club hoping to get a
v K4 defence can now take a v 10984 ruff.
¢+ J84 trick in each suit to defeat ¢+ KQ10832
#8743 the contract. If South had & 6 There is a greater
West North East South  led a club at trick one, the | West North East South  chance of beating the
1lv Pass spade loser would have le Pass contract by getting the
3y Pass 4v All pass been discarded on the 3e Pass 44 All pass ruff first and hopefully
third club. the ¢ K later.
Board 3 4 Q876 Board 7 4« AQ105
South Deals ¥ KQ 6 South Deals v 96 Lead¢ 5
E-W Vul ¢ K Lead: ¥ 4 singleton Both Vul ¢ AJ2
&#AQ873 & J1054 It is better to lead the
s A4 N 4532 East leads the heart, hoping | ¢ 983 N o KJ72 unbid suit rather than
vJ10875 w e I to get a ruff. Northwinsand |v QJ5 w clM 874 declarer's suit.
¢+ AJ63 S ¢ 109852 plays a spade to the king. ¢+ Q843 S ¢ K1065
& 106 & K942 West wins and returns a & Q97 383 When declarer attacks
& KJ109 heart for East to ruff. East 464 clubs or hearts,then West
v A932 should play a diamond as v AK1032 will return a diamond when
¢ Q74 clubs were bid by North. ¢ 97 in withthe # Qor v Q.
& J5 & AKG62
West North East South This defence now defeats West North East South When East gets in, they
Pass the contract. If East had not 1lv must not play a spade
Pass 1 Pass lv led a heart at trick one, the | Pass 1le Pass 2% which was declarer's first
Pass 1le Pass 34 contract would have made. | Pass 2NT Pass 3NT  bid suit.
Pass 44 All pass All pass
Board 4 4 QJ62 Board 8 4 AJ1032
WestDeals v 543 WestDeals v KJ5
Both Vul ¢+ J65 Lead: 4 Q None Vul ¢+J93 Lead: 4 Q
# 853 #9094
4 105 N & K93 North leads the top of a & K98 N 4765 South leads partner's
v QJ10982 w eIM 76 sequence enabling the v AQ874 w EIN 9 suit. With a doubleton,
¢ A2 S ¢+ KQ843 defence to take two tricks | ¢ 8 s ¢ AQ72 lead the higher card (with
& AKQ & 1096 in that suit. If any other & K865 # AJ1032 more than 2 of partners
4 A874 lead is made, declarer Q4 suit, lead low)
v AK can discard a losing v 10632
¢ 1097 spade on the third round ¢ K10654 If you lead a diamond,
*J742 of diamonds. A low spade Q7 declarer will discard a
West North East South  lead would not beat the West North East South spade from dummy and
lv Pass INT Pass contract as declarer can 1lv 1e 24 Pass will now lose only 2
3v Pass 4v All pass play low from dummy. 3% All pass spade tricks.
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